
 

 

Table Type 240 (B854) 
 



 

 

 

  1.Table Type 240 (B854) ........................................  2 

 Parts Index ..............................................................  6 

Table Type 240 (B854) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

 

July 27, 2010 



2 

 

1.Table Type 240 (B854) 

102

10

6

9

102

9

102

9

102

9

102

7
8

7
7

8
7

101

15

101

11

101

14

101

13
101

13
101

18

19

103
19

10318

17

20
21

20

19

103

18

17

1

2

3

101

101
101

101

4 5

10115

101

22

101

104

104

104

104

23

24

12

16

105106

25

26

6



3 

 1 B641 1125  Cap:Stand 2 

 2 B641 4455  Copy Tray:Lower Rear:2 3 

 3 B132 1226  Holder:Stand 4 

 4 B641 4459  Sheet:Copy Tray:Upper:2 2 

 5 B641 4456  Sheet:Copy Tray:Upper 2 

 6 B641 4451  Stopper:End Fence 2 

 7 5447 2681  Snap Ring 4 

 8 AG07 0514  Magnet Catch 2 

 9 AA14 0901  Copy Tray Stopper 4 

 10 D334 4452  Copy Tray:2 1 

 11 D334 1060  Coil Spring:Earth 2 

 12 H072 2207  Guard 2 

 13 B641 4457  Supporting Plate:Left And Right 2 

 14 B641 1112  Cover:Rear 1 

 15 AA14 3793  Pin:Contact Point:Table 2 

 16 B662 4450  Bracket:Stopper:End Fence:NA 2 

 17 AA14 3129  Shoulder Screw - Front Cover 4 

 18 AA14 3547  Hexagonal Bolt:M12x80 4 

 19 AH01 2035  Caster - 980N 4 

 20 B641 4402  Stopper:Copy Tray:Small:Unit 2 

 21 B641 4401  Stopper:Copy Tray:Large:Unit 1 

 22 B435 4945  Guide Plate - Lower Outer 1 

 23 B662 2966  Bracket:Fix:Stand:Left 1 

 24 B662 2968  Bracket:Fix:Stand:Right 1 

 25 B641 4461  Sheet:Copy Tray:Middle 1 

 26 B641 4463  Exit Guide Plate 1 

 

 

 

 

 

 

 

 

 

 101 0454 4008Q Tapping Screw - M4x8  

 102 1106 0063  Snap Bushing  

 103 0954 5014N Screw - M5x14  

 104 0720 0040E Retaining Ring - M4  

 105 1105 0019  Nylon Clamp - 11N  

 106 1105 0051  DKN Clumper - 13M  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.Table Type 240 (B854) 



 

Parts Index 



6 

B132 1226  Holder:Stand   3 -   3 

B435 4945  Guide Plate - Lower Outer   3 -  22 

B641 1112  Cover:Rear   3 -  14 

B641 1125  Cap:Stand   3 -   1 

B641 4401  Stopper:Copy Tray:Large:Unit   3 -  21 

B641 4402  Stopper:Copy Tray:Small:Unit   3 -  20 

B641 4451  Stopper:End Fence   3 -   6 

B641 4455  Copy Tray:Lower Rear:2   3 -   2 

B641 4456  Sheet:Copy Tray:Upper   3 -   5 

B641 4457  Supporting Plate:Left And Right   3 -  13 

B641 4459  Sheet:Copy Tray:Upper:2   3 -   4 

B641 4461  Sheet:Copy Tray:Middle   3 -  25 

B641 4463  Exit Guide Plate   3 -  26 

B662 2966  Bracket:Fix:Stand:Left   3 -  23 

B662 2968  Bracket:Fix:Stand:Right   3 -  24 

B662 4450  Bracket:Stopper:End Fence:NA   3 -  16 

D334 1060  Coil Spring:Earth   3 -  11 

D334 4452  Copy Tray:2   3 -  10 

H072 2207  Guard   3 -  12 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

AA14 0901  Copy Tray Stopper   3 -   9 

AA14 3129  Shoulder Screw - Front Cover   3 -  17 

AA14 3547  Hexagonal Bolt:M12x80   3 -  18 

AA14 3793  Pin:Contact Point:Table   3 -  15 

AG07 0514  Magnet Catch   3 -   8 

AH01 2035  Caster - 980N   3 -  19 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



7 

0454 4008Q Tapping Screw - M4x8   3 - 101 

0720 0040E Retaining Ring - M4   3 - 104 

0954 5014N Screw - M5x14   3 - 103 

1105 0019  Nylon Clamp - 11N   3 - 105 

1105 0051  DKN Clumper - 13M   3 - 106 

1106 0063  Snap Bushing   3 - 102 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5447 2681  Snap Ring   3 -   7 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.Table Type 240 (B854)
	Parts Index

